2"° SEM. / COMMON. / 2023(S) OLD

BST-201 ENGINEERING MATHEMATICS - |1

Full Marks: 80 Time- 3 Hrs
Answer any five Questions including Q No.1& 2
Figures in the right hand margin indicates marks

1. Answer All questions 2x10
a. Find the derivative of vx with respect to x?
b. Find the image of the point (2, —3,1) with respect to ZX- plane
C. Integrate [v1 — cos2x dx
d. Find centre and radius of sphere

2x2+ 2y + 2z —4x+y—-3z—1=0

. sin"1x
€ Evaluate lim,_, —

f. Evaluate f_zzlxl dx

g. Determine Order and Degree of the differential equation
5

d’y dy)3
==
h. Integrate [ e*{cotx + Insinx}dx
L f(x,y) =In(xy), then find g—i and Z—;
j- Solvedy+ (1+y?)dx =0
2. Answer Any Six Questions 5x6

Prove that lim,._,, (aT_l) = log, a
b. Integrate [ x%e* dx

C. Find the extremum points and extremum value of the function
f(x)=x3—6x2+9x+7
d. Find angle between the plane x + 2y + 2z —7 = 0 and
2x—y+z+8=0
e. Differentiate (logx)®@"*

f. Solve (x2 — 1)% +2xy =1

vsinx

g n
Evaluate |2 N TN



1
Test the continuity of functionf (x) = {(1 + sz)x Lf x#0

e
Find the ratio in which the line joining the

points(1,3,1)and (2,6, —2) is divided by YZ-plane

dx
Integrate fx——zs—(logx)z
o dy .
Find ﬁ if y2cotx = x2coty
dy _ J1-y?
Solve = Vi
sinx
Integratefsin(x+a)

Differentiate /sin/x
Integrate [ tan*6 do

x3+y3

If z=tan"! {
X

loge(2x-1)

Evaluate lim
-1 g

atx =0

0 ] .
}, then Prove that x — + y—z = sin 2z
+y ax ay
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